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4 2004 4E“ LB AR E T i E —A) rﬁ% Many theories concerning the causes of juvenile delinquency
(crimes committed by young people) focus on either the individual or on society as the major contributing influence.
(B, A RETE S EL R REE S EL, K —MiAARE S EBSHEE, TS —MANHESEETER
Pl o ) AR X A BRATT R AT LA T 8 SCEE Y oo R B R P 28 R A Bk 4 —— BV AR SO 41 3 4R D R AR IR,
KR AEN N KE FRMH2F—XFE, M EUE B RtE % 18 2 , B2 LARC F0iE 1k 68 77, sk vl ARS8 45
5K

X 41 : Comparisons were drawn between the development of television in the 20th century and diffusion of printing
in the 15th and 16th centuries. ( Af1%f 20 it 42 e ARV AR R LA X 15 40 %0 16 HEAQENRIAR B4 (4B kT T — &
HOBE o ) DX 03, FATT AT LAMEARL, T 30K S 16 42 %) 20 a2 B R A EHE , i 19 a4 RN ATT,
VGBI TE IR R LA K 20 tZMIRER L, BT I, 4R X E A R R RS RR R EEN,

i X 4R (2001 4E - 2010 48 ) BHFREE 9 FIEFRE A7 B 00, BAOTR AMEAMIEH KK
SRAVT E A B, BT SEE A “ IR RIS A AR T BT b BB B A R X R R A K e D, Tk
LR R AT T T A RR A M L &

Rl EATE R, ZEBAM A AN B RS, 55 ki 26. 5% F124% , W 516 E 2 5 KRR A A AE]
if'JB‘JEE G5k 17% #0 10% ; B, B RE S B T 5% 5 55 50, R 417 B B8 B 43 51 o 8% #1 9% o B I ]

W, SR A A EA, AT T 95 > HR Lo LAYE B, U R SCRIZE A SC R L %ﬂiﬁ.&ﬁﬁfﬁﬁ
358,75 T H9 AR X

TR B R GE R GRNC P T T A 48 BB AE T R A, LAHE BB A IR SEEE S AR, #Tﬂ
B —BUE B e



k AARA—BARBEBE - F— Kk %

-

VUEBR R R B R p R B mE MR, o1 LABS B2 A4 T b3e4R - F 0y
%‘Fﬁ@“%rﬁﬁu‘ J_m”ﬁ‘:@‘? B LB 20 0V B AR A S R AR B, 11 2009 45 B b i

e LIS

GEF R E—A zgﬁ%iﬁqﬁé@%ﬁmm,E&@E?ﬂ%iﬁ B YR AR 32 BRI R R

'z:ma Ekiﬁta—%%ﬁkﬂﬂ%&ﬂ% ﬁ'ﬁr“%%ﬂ*ﬂﬁ%ﬁﬁ%ﬁﬁﬂi%&%ﬂ gmﬁ&ﬂﬁ@

ALK RN AL T ILRTR
1 AT (RETRE XA B SGE R S CRA) . i

1 18 B tatmer wishes to succeed, he must try to keep a wide gap between his consumption and his production. He
must store a large quantity of grain _ 41  consuming all his grain immediately. He can continue to support himself
and his family _ 42  he produces a surplus. He must use this surplus in three ways: as seed for sowing, as an insur-
ance 43  the unpredictable effects of bad weather and as a commodity which he must sell in orderto 44  old ag-
ricultural implements and obtain chemical fertilizers to 45  the soil. He may also need money to construct irrigation
_ 46  and improve his farm in other ways. If no surplus is available, a farmer cannot be 47 . He must either sell
some of his property or 48  extra funds in the form of his loans. Naturally he will try to borrow money at a low

_ 49  of interest, but loans of this kind are not _ 50  obtainable.

41. [ A] other than [B] as well as [ C] instead of [D] more than
42. [A] only if [ B] much as [ C] long before [D] ever since
1 43 [A] for [B] against [C] of D ] towards
44. [ A] replace [B] purchase [ C] supplement [D] dispose
45. [ A] enhance [B] mix [C] feed [D] raise
46. [ A] vessels [B] routes [C] paths [D] channels
47. [A] self-confident [B] self-sufficient [ C] self-satisfied [D] self-restrained
48. [ A] search [B] save [C] offer [D] seek
49. [ A] proportion [B] percentage [ C] rate [D] ratio

50. [A] genuinely [B] obviously [C] presumably [D] frequently
%% .CABAC DBDCD
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A SRR FE A O, £ RS, B, RN RS s A A T, BARA 5 B In a handball
Wﬂmn referee refused a player’s request for a time out for a glove change because he did not consider them wet e-
~ nough. "N, R AT HEE S L LT FI R E o
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(m) EERBE(AEXELE)
HFEAERXEEEAR FOKRE EREE EESE BN, 8.
What does the passage mainly discuss?
Which of the following is the more appropriate title for the passage?
(D) AFE(LFEREL)
WIECER AR (5 BBTRE, B what, which, when, where, why 2&FF 3L i (5] 55 Hih# RS
BA: ~
According to the passage, ...
The passage tells us that ... £,
(=) T8 B (R R SOREME RC IS )
FAFRIR 4 5T B IA X RIERE R MRBIE . Bl
The word“attribute” in line 6 means...
What does the underlined phrase in line 3 refer to?
() 2] R (455 |
BEORE AR RN E BT, B HEXFE R ERNER,
L el
Which of the following can be inferred from the passage about...
What does the passage imply?
The main purpose of this passage is to...,
(H) MRS (S EENAE)
T REE A0 R RME BEF RSN EE S, .

What kind of writing technique does the writer use in the passage to...?

What are the ways the writer uses to create the gloomy impression in the passage?

TR B9 PR, 7 BY T IE B BRAR A K , A8 SR FAR L 0 B B A 0 , BB o R T AR B D,
A TRTERUEAT FE 53 B ERF (6] 4T S8 00 B BE A A R o ZEDR IR BRARAE /1WA o , B 3 R ER R 0 SR P o, 36
AE TR R KB AL ERIER,
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BRI A SR A AT DRt o B B PR 0 O SR . S s R , 28— At 2 R B 7 10 B i ) 1t
FRAFTHIE o 54— e LB B R S 64 R 2 ST 1R

1. B 1P R 10 3 B M 2 ) o RO B B RO R, (RO E R R LR B
FRABGE BRI LA b o A BB UR R TR R B M, 4 B T A0 OB TE 75 b 3h 30 8 8 , 74 it
EEWROAZ, RRE WSS, WIRMTE SRS wm IR R R, B, EI% 2 58
HHBEBRASIFA 5L .

2088 DR —FR AR B MBI TR, DR B A RO BIRK S BB, B R RS
NFE o RPN BB R B B B AR I HLR IE A Ok Y H AR R ﬂ%}%ﬁ%ﬂﬁaﬁé}\iﬂiﬁiﬁw
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HEIEBNREST o P, SRR AR R B BE ST, B 50 R R S e B e,
4. JW ERRE R RIBA NS TR B, S — M FREES Btk £ B MiE, Mikteh 2
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W), ERERE A S B B4 17 A ARAIE /o T REE T E kR R , UL EF R T B

5. S4B . B R Sk B0 F AR e A IR R B — R IR, RS EP FEAEEEACHR
S MM EAE R RS — 2, MR T FiRht, SRR sk #0, RSk A IR B A X B i 2
e R, B , A S AR , IR B R RS BRI T B

HAR BT, B B, A rE AR E R R T K, — T — AT T A — R s —
HEENE T SRy, Rt iR 7 7 A9 B 5 U s A 3 2 ATV R AT il i R AT AR
BOSTREG , SEETR B TR D B SR , M P B, ZE S AR A5 55 SRR B R R TR B R AR A ]
IS AT B B B A O o DRI 2 B 6Tt 3 AR % _E T SO I 80370 4 SUR > 1R, W AR A R
BG4 R, AT LA BN

S R BREF B B 0 ST 1R , 580 B LB 1A B R AR L 7E DU, LR R B AT DR 5, ST PR R 82
{5 BIATC . BTG AR BHiEEAICAA FRKRERS  BEATHERRFER.

() EFFASRE IR, ERE R a RS RRE T X

JKERES O —RITIMR. T A B IS = PR3, A SR E AR, BT LR A 18
ERFHRE S WA —E AR AN ILE R, 2% R XA AR R

A How are you!

B: Fine, thank you, and you?

KRB ST 2 b T BRSBTS B E , R R — DR — B TR
% “i%e” (lexical chunks) . JEiEiAIHA B E R 18 v 45 1 PR JAE R ELE LA E B, AR
Bk i ARG M RN A SR . 2 T R AR 6 ERR R o SRR INGEIT ISR B IRIX LR U
5 B 45 2 TE BRI AE L RIE S 5 B 90% K B, BT AFES BF 3B ME AL B P, RATEBEFRARER, 0
BRI X LIE F AR R

1l : Legend has it that sometime toward the end of Civil War a government train carrying oxen traveling through the
northern plains of eastern Wyoming was caught in a snowstorm and had to be abandoned. %1/ %! Legend has it that #]
PR FIN toward the end of Civil War b ¥R 1 7, AT DUREOEE BN B T EERS R EEFES a train
was caught in a snowstorm and had to be abandoned I, H15R[A] B R HEEEERE, WEREEN A Leg-
end has it that FOBEHR . LI, 25 A2 7 IR 4 K B B AR R T R R S iy D RUANSE E S5

(=) RAEA B C MBS R

LTS T, RN LA LB — R R AT R SCEE , ARG IR s 5 — b R EL R Bl J 3L 4R
R, BT REANE.

hE BN R S AN ST AN S RN T#, MER AR KR, MRk A 5, 57
B B S i i 22 TR W ARG 1) , R BB 58 7 3038, 378 SCREARNE, B T B S BED A (R 04U
2 TR S A, M O S Tt 3 2 B, IR R T B LR B R o X T IR TEM
5 BT | RO 24 7, (B 0 Bt R, A T s B RSO LA R B % B B O T L. S0 B KU 53X
BRI SR M X BT , % 4t °] B AR R R XELLRE L A

X B, RATERUCR AL & H 0 . %

1. & 4@ 0 (read quickly to get the main ideas) , b7t B % L 171 F1 2 14 L BASBREDIRF4F (K5
TRIZ HES B3 . EHARE-BIENPLA, BERMTERIENTLARER. HEETR5H,
] e 5 — B i B L RS bRt . — IR T B AR A AR X —BOE P ER B AR EA KR M
WUiE, FRAEE LR EE, XAUR E AR PO B R LR, T H G R
5 R L OB Rl o 00 T B B BB AT 5, 7 — R SR U 20 MBI SCEE S, KN S v . WU HY
BRI 8 I , AE 4 T 4097 , s F Al s s ia st £, I H R B4R SO EE 0 A A Bk
ZMEETE

2. F 0, Rl i A E A A0, B S B B, ZE DU RAE TR AN EILAE , KRR ST B B
DRRNET IR B E I — B, LMERE REA BB, FRER.

3. &k, BPERESCEAL (read quickly without careful reading, often looking for a particular thing, such as facts,

c 6



* FILRAGRER - RO L TEAR *t

names, time, figures, etc. ) o #& B H AR , [ B FSOHATE X B L, AL EAE B, REHHE HBL A,
@&EEKE#’B@*HEZ&EJEEK@%%%W\’@\iﬁﬁﬁﬂﬂﬂé,ﬁﬁﬂﬁtﬁ@%ﬁ‘%,%ﬁﬁﬁﬁﬁfﬁ;ﬁﬂjﬂ
Wio AR RE R B IRIA , A7 B 4R B) i R B9 ) K3k, BT H ¥ & return times , LA AT AR} the time to get
back, RIEFAIBIESCH R RIAE B, X FHEEE, W 2w, B BN ) 05, AR S B SCHEATHEN .

4. Bk, X#?Eﬁxiﬁﬁiﬁﬂﬁiﬁ@,ﬁﬁﬂﬁﬁﬁ%@J’E%‘EE:@%%,Wuﬁﬁﬁ%ﬁﬁ,ﬁiﬁﬂﬂﬁo
ﬁﬁﬁfﬁ\?ﬁﬁﬂﬁb‘(@%yf,Kﬁﬁﬁﬁiﬂﬁﬁ,ﬁﬁi*%ﬁ%&%ﬁﬂmﬁ,uf&ki’]ﬁﬁ%iﬁ%o LR, X
FEME SR B A B 1E)_E OAREE BRIt , 25 2 72 - Bt UM B 8 5 B S P M, LA 4 R R o 0 0
B

S BeJE N B PR = 4 ph B R R B R ENBE-TAREENER BESREAEALEAY
BRI WINITA M R M SRR E

L) BRI

LREHE

BRI AR T R0 NEET, BB & T LA

(1) 5 BB AT T 2 th BLSCAE f R 47

Which of the following statements is NOT true?

The following statements are true EXCEPT i :

FEX B, BRI XA not, AR “ N IEBHHY, G2 A" L6300, BIWR— TR A5 A X A, 2
ARV R A R, BT LB B B R A R R

(Z)Mﬂj@ﬁﬁﬁ,;ﬁﬂﬁﬁi@f%@i%i?ﬁ?ﬁ*&ﬁ*ﬁfﬂ,€W§§Eﬁ§~4‘$iﬂ,?E@Eai%ﬁi%ﬂﬁ
T BEEE—T FREUBHATO B A B 1 2 DA 90 2 16 4 A K 5

(9—%%%fﬂﬁiﬁéﬁﬁﬁﬁ,E%Eﬁﬁﬁﬁ—ﬂiﬁ‘ﬁﬁ@?ﬁﬁﬁﬁﬁﬁﬂﬁ,’Eﬁxﬁﬁﬁﬁmﬁlﬁ.ﬁ
FEAREY 55 B, O HLTE BT T U 75 2 T IR A 1%

2. BT IHRER, R B ki

Eﬁﬁﬂ%ﬁﬂﬁ,%Eﬁiﬁﬁﬁ%%iﬁ?ﬁﬁﬁ@ﬁ%%ﬁﬂﬁ',ﬁzﬁ‘%?ﬂuﬁﬂb)@ﬁ?ﬁﬂli*ﬂﬁ
58,

(DNRBEE T HREE. BDERBVE T o i) I, 4R 7 3P AR B R 0 S A o 5 6 A 22
iR, A RRERDE .

(2) Nl AT R K . A RHABE T /AT 428 .

Which of the following statements is (not) true?

The passage is mainly about...
From the passage we may infer that ... . &
IX B A T LA POk R e 2 SR &K RIGE LR BN, PR R — e T B T B S kS
EAETF FRER  REE D hEER, TR B, BEX T — N8 T R R M AT 22 150, K ik
Kife, EERSIERER, 36, B
GYAHRER. AHAREFRABILE, AR ERT, BE TR P K K88 & S5k
KABEHBE S, RREBER, I E PR S 8 S SR A Bl A R G T S I e o S
®13: 58 :
3. ETIRFINER(MEMSE) ‘ PR
40T B D R ERAR AR 5 T AR 24K E A, RO R — R R SO, B AR TRTE 3C P AT AR
B BEUS—FER I, AR R X, 8 5 AR, {4
XFFE R EE =MHIENR 2ER B
(1) [ SCREiA B[R] SO 3 SCIRI ) — i 4R A e R Rl o A A
(2) FSGAH ., RFENRAE A iEiEss, i 3% ANTE BT AR RS
(3) RAIX 45, #odFAARREAE, 40 :spend ... (in) doing 5 It takes ...to do,although ... & ...asi.. (B4R,
RE)%F%, ﬁﬁﬁﬁ*lﬂﬂ@%&%*’@,ﬁﬁ%ﬁi‘éﬁiﬁlﬁﬁﬂiﬁﬁ,M’ﬁjﬂ?ﬁfﬁﬁﬁiﬁiﬁ%ﬁ*%ﬂaﬁ it &
e



’ﬂ' FARB—RARBEBF - B—h %

A EBTIMERER(REEER)
 EEEEEEEEL NG SEMEEN  BERE AT S A TSRS 2 R — B E
B XERLEIEER B, TRAEESR PAF JLFEDR -
(1) B WAL E 7B TT K, B BE—rd" &, VEB B — MG RAR SR E — e R,
REH#FGTRIT.
L QBB BEERENSR, B R —— BB, SR RZAL L it is clear that ..., thus, in
short, as a result, therefore, for this reason e WS 36 R BYIANE , BT LARS BRI R4
(3) A5 Bt B % B9 FF Sk s B WML B b R A o B -8

o6 6 B St R — 3, B4R
i — AN, SRR — R LR R R EE AT B, i B R, K B4R AR R T AR B U

5. ¥BITXHE RS R, THREEEE, ALK

BAEEEE AT NEEEN, N TAE B M, MITRERARR I k&AM EE LT E E R
T i 2, R BRSO SCEE Py 25 PG M VE L T , 85 X 4 3 R T R ER A RN A IR R E P RE W
AT X R EEH LUT LA

(1) 15 B {£4% 7 (Informational )

XFE AT RELE A (AEAY A BE R RASS) HENERRICERER, T
PURIEAZ I8 FAAR S R BTN A E Y SIE R A DT

(2) 43718 165! ( ( Opinion-reason )

M SR XA T Sk B ORI, HE AT IR BT, XFRRSCFE BB ILE I believe, as I see it, 1 pre-
fer,I am sure %ﬁ%’éﬁ%ﬂﬁﬁﬁ%ﬁ%ﬂ&ifﬁ%%ﬂﬁ%ﬁﬁ SR T REsTE

(3) 5L UEBA &Y ( Thesis-proof)

RETEEAEAER, BT &, BRI R, KA 8 B AR LB 4 R A5 URAURFEF K
ERAFS B ARET , XA CERE AR, HiksReH FEIRGEE, FiLeEEZMELS L, R
JE 40 BRARAS TAESE , °T LUMRIR B © I AMERE 6 , B 1E & T UUIRAR -

(4) [E) %P2 ( Problem-solution)

SRR S @ B, M R RS S RO DT R , R i 2 0 B IR o 3 7 ned
HEREAER 4, TikiEE—RRED FE, Ao BAEN; BEXNTXERRERT S, A48 ) 3
B 8] W et SRS M Xy, ISR AR 2, B R E K EA R, A TR A,
K EZHIER T ,— B PR — N EES R T AN E.

TR TR, A O BT , Rt 7 T 45 R I R A DA R B — S R R
T A B T T LR R AR M . — e, % R PR A RSN B AR A
B il S EESFER, ::

(=) EBRBE R ERFEE T b

B TR 4 SO R S BB S o AR — R AR T — MO B, 8 T A
A SRR P AR B , SR AT B RN X B AR AT A . AR BRSBTS
B TORRE, T 155X S IRV, 25 A AT L A AR, T RSO E B KR ETHRXENEERE. W
BSR4 %A FRBIE SR A,

1. FEREEKABAE

5 BRI B B97E T % A 0 SCE AR PO B AR R L R K B R EE B MR RFRMRES,
— R RSE R, R B XER B RD , RAEE MEERE RO KR AR AR
KRR TA AR, ﬁ%%%ﬁtﬁﬁﬁ XERBENE BEF AL R,

2. TERBEETHAFS

SR IR RE AR, ﬁﬁﬂﬁﬁ&fﬁﬂ#ﬁiﬂiﬁﬂ ’#’Juﬂ@%ﬁl?‘fﬁﬁ

Sy



w WL AGLER - fH L mEM 1‘:*

(DWhat is the main idea of the passage? (ABAH.LEBEEHAZ?)

@ What’s the author’s purpose in writing the passage? ({EEE i H KR 42)

(@ What is the passage mainly about? (EEFEBEHRML A7)

@Which of the following statements best expresses the main idea of the passage? () Tﬂﬂﬁﬁﬁ%ﬂﬁﬁﬁ}ﬂﬁﬁ

ASCH L EAE )
(®Which of the following can be the best title of the passage? (Mf— itk RE B 4 M S5 VE BB 52)
@What is the author’s attitude to...? (YEF Nt BB R  vven 7)
B KB R4 5

W%@ﬂﬁ@ﬂimﬂ AR REBEIE S 3O — W, B AR S & AR R AR, EEERE— —¥
Ho BEFERR, ERIA N T4

DEXREE

RUBEM, BARM., WERTHLE R may, can, could, probably, some, sometimes, usually, often %
REANEEERWIA, A0 SR BT S i S B4 X A, 400 : must ,always, never, the most, all, only, any, none, en-
tirely , U2 000 — MR A 28 2001

(2) BEFE PEFnde S 44

HEEEHFHMRE W FIREFEHEIRIE AT, D, :approach, concept, chance, opportunity , various, both, gener-
al, difficult(y), way, necessary, necessity, importance %, Rk 4 H BRAR R IR, W25 5 — — AR
0,

(3) BEZHAEF T RS0 OAEAH), X 2 2 R R SO R B H BRI,

4. FERBETRITNES

(DEEELXHER BEEBKES%, BRE & T WA BRI N, i, F—CE R R ATIR B 5
iR B IR AR RE S , Tk T 00 P AT B R ik e SR R B % T ( WNEES) MRk E S T XZH K

HIEH, _
(Q)NAEBBAE AR LABER SCR A 2R, FR SO A A — 04, B R R SO R
B 5EXTxX,

Uizﬁ:f:ﬂﬁfﬁ&ﬁﬁ—/l\;@ﬁ,ﬁ,Eﬂfﬁﬁmﬁﬁ%iﬁ*%%@?%mﬁ]—#,[/Jlﬂﬁfeiﬁﬁ%ﬂio &
I, B —E BT R A I A7 BB X B, TR 80U E B s e A B3 A R 2 R ) A,
AEXFEFE EREFE, MR EEIE Ik — 1 5 FRIAZRZHET, AL BABETMGEESR,

(4) E 4T FRR , 40 :never, no, no one, nothing, everyone, everything, all, always %,

5. EEKEERIME k5515

(1) SREREE . (RRAT 28 v 4 Be g A | 3 0 B 199 444 AR TBRAEREBRNE—E, B
FER— R R L EE T BENPONE, R BB TR — i ﬁﬂ%?ﬁT?J&?@i@’j m
T B X — BRI SRIE & B A R AR R e hl YA

(2) EEEE, g W EEEE” e — — M CEEAT 38 1 W35 , 45 30 B 9 3 ?ﬁtﬂgﬁi@
B T A, B, R Sch £ R AR, EBEMEMYEBRMKE, RHEEEEEHEENERE, X
RIGESCEF IO BE S E R Ty, e PE Y S — — R A& LB TR, R BB s

BRI B, ERARERIE. H—FH, AN SETAT, &SRR, RELES, B E

FHHMNE. RE HHEEEE—RESL BEERESE,
GIMEEEBE, RITEEEES @Aiﬁé’i*ﬁ*ﬁzﬁ\ﬁﬁﬁ%ﬁﬁ%féﬁ,ﬁﬁ{‘ﬁ% %B%ﬂﬁ
BXEFHEER AN, 3
(4) 2 FAHERRI o IXFIERHG T INE 4 K Bk, RUEMBHME B BEAKES, IEAT“HEH&% ﬁﬂtﬂ
XEMTEE : B AREE BAMAHRE B A 2 B R T = R ER, {EKE:PiﬁB‘Jifig Bl

G XEL R, T :-'.s‘_..j;
() 4095 R A A R ML B S 75 ety
EXER, MEE B RBET L RIARAA (details) i3 B 0%, ﬁ'ﬁ;ﬁﬁﬂf}tﬁﬁﬁi@ﬁﬁq Eﬁﬁé

(9.



”’“_ﬁ EHRA—BARBERE - K &

S AR AR RO AR |, T RO A R AR R R AR B, A BRI AR AT
RE I B R BUE B M E RS .

YA AR AR 72 RS 27 , X R R SOR A R LR, e TR SR SR T AR X%
5 ) f— A S AR 2 2 — MR E SO T BT F o ELR A T4 o B, S R T SO
FRIANE , 2 A B E R Y R HEBR T, AR, I BUR”

1. AT T 1% A

Y L A o PR B — 2K L, K o 40% o (A PR AR R R 2 RA
sz, B RS R M G4 K ZH BTN R XA

(H)5EexX

Why do women seem less likely to be promoted after marriage?

What did scientists learn about earthquakes at the area?
According to the passage, how did the drums differ from many other drums?
According to the passage, through which of the following does the energy released?
2)FEERX
According to the passage, the new machine proved to be
In the author’s opinion, visual and spatial abilities are good for
According to the passage, women are usually good at
The sun’s light travels slowly when
T 0,353 (R 2 AR SO s LA B, IS BIRIE R R R A TR R S AT AR (Ao N
BB AR MRS B A MR LU, R ) BB 5 2, R O U SR T LU R R P R T
BA, 3325 ) R th R 2 b ELHRAR R AL o
T A0S, X S R 22 A R R R SO A B SR , TR R SR R R SRR AT R I
R M , 7 1 2 e B ) 462 , 5 S B 40 DR 5 S 285 T 0 (R, 6 T A DR R iR R4, MR LA PP S
AR R R I (B S0 2 R AT AR R, PR /A 1A BRI e v PR e T, B — B A AL
s EETIHEEIAE T EALZRIZ, U RER, UE TICILMEE, AN, R S R R
A O R, ER IR B A SR, B, Y2 B S R A TR B8 B B R R ROR TR
MESURIEEE R ‘
oy R IR B T FE T 25, R0 S5 M — A 5 SO R4 — B 53— 28 Mk 5 19 (IR 55
fec B ERR PR, % 4 N TEE AR 2 SCH R R B R AT
2. 4R RS SRR
A R A 5 SO R — R R P A BRI B R R A B AR 2 SR T #) PR R B
BRI AY IR A S A, 3R B A AR A B R AR SR R AR A F IR - B BETLL
5, JESCRHRI R H BT — B, TS R R AR, B, 411 A R LU TR
(1) L B, B R AR A B R S BEMER—ERMBEEXEEE 3o
(2) FIRGAS R XS BR R TR A SRR, R, BREEEAREE.
(3) TE R TS 3 R B ST 0 S SCIAl N b SR X A Mg kK 5 R SCATRI I B8, 1 : He s old. He is no lon-
ger young. AITFAEH—ARE R, — M REEHR, HEH LN XPFGHH AR
(4) B BRAYERE, tinh EiESHEABEESE.
S) EXMATNRRESEER MR EAGE, TEREREEHANERSR. FXHOFHREN
ER, NIETAUR, M2 S REE LN EBE.
L(6) TR S . JRSCR BRI, T SR A R SRS o
§ () ERETARE R BT XS, BT RS RS SR T S SRR,
TE—E ) £ 30h SR S, i AT AR AU .
(8) IEBHSEIT A A2 IR ST 4 ) fo S AL A e
4 O ERET R I R, R 3 EE R B, R TR Z TSR A RIER Y B
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